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Are Trade Deficits a Problem?

K. Alec Chrystal and Geaoffrey E. Wood

1986, the U S, trade deficit exceeded $140 billion.
Such substantial trade deficits often are considered a
sign of weakness in the economy. While this situation
is something of a novelty for the United States, many
other countries have had trade deficits off and on
throughout the postwar period.’

The purpose of this article is 1o explain what is
meant by trade deficits within the context of the bal-
ance of pavments, to outline the circumstances under
which the state of the balance of payments may be
svmptomatic of a problem, and to consider what this
analysis immplies currently for the United States. With
regard to the last, we will suggest that concern about
the U.S. trade deficit has been overstated. Indeed, a
trade deficit can be indicative of a healthy and strongly
growing economy.

THE BALANCE OF PAYMENTS
ACCOUNTS
The balance of payments accounts are a record of

ransactions between domestic residents and the rest
of the world over a specific period of time. Like anv
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double entry bookkeeping svstem, the balance of pav-
ments accounts must balance? There is nothing mys-
terious about this, nor does it involve anv staterment
about how the world works.

The simplest form in which the balance of pay-
ments accounts can be expressed is as follows:

ICA + K + F= 0

where CA is the current account balance, Kis net non-
official capital flows and F is official reserve financing.
These items are defined in such a way that they must
swm to zero. Let us consider each of them in turn.

{urrent Accounf

The current account has two major components.
These are the trade balance and the services or "invisi-
bles” balance. The former, which generally gets the
most attention, is the difference between the value of
goods exported and the value of goods imported.
These exports and imports are of physical objects
which, in principle, could be observed crossing the
border. In contrast, “invisibles” are services for which
international pavments are made but that do not

*Bacause of measurement errors, the actual accounts add in a
“statistical discrepancy” which when ingluded in {1} ensures bal-
ance. The reason we say that they must balance, however, is not a
statement about the accuracy of the statistics. The current and
capital account (including official balance) are defined to be egual
and oppaosite. Think of the current account as the excess of income
over spending. The capital account is then merely net saving, which
is equal 1o income minus spending. H you measure saving as
negative and the excess of income over spending as positive, they
will obvicusly add up to zero.
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involve the direct transfer of a physical product. For
example, if a New York shipping company were to
insure a cargo with Lloyds of London, the purchase of
that insurance contract would represent an invisible
import for the United States and an invisible export for
the United Kingdom.

Invisibles take many different forms. Two examples
are worth mentioning in addition to such financial
services as insurance and banking. First, if a nation has
either assets or liabilities overseas, the net pavment of
interest or dividends is measured as an invisible im-
port or export. A positive net return on foreign assets is
counted as an invisible export, because it generates an
inflow of pavments into the economy just as an export
of goods does. Second, international tourism is
counted as part of the invisible component of the
current account. If 1.8, citizens spend more on over-
seas irips than foreigners spend on U S. vacations, it is
measured as an invisible net import in the U5, balance
of payments.

Non-Official Capital Account

The capital account of the balance of pavments
measures the change in net indebtedness between the
domestic economy and the rest of the world. 1t is
important to get this clear, as there is sometimes
confusion about what the capital account contains. It
does not involve imports and exports of capital goods,
such as machine tools and computers. These are all
physical goods, and their import and export are there-
fore counted in the trade account. The capital account
involves the transfer of financial claims of various
kinds. These claims are referred to as "capital” be-
cause they represent claims to interest or dividend
pavments and, in the case of company shares, do
involve ownership of underlying real assets.

The terminology commonly used to describe the
capital aceount is rather confusing when it is related
to the way in which capital account items are mea-
sured. In the current account of the balance of pay-
ments, goods leaving the country is measured as a
plus item. In the capital account, however, what is
generally called a capital "outtlow” is measured as
negative. Only the terminology here is confusing, how-
ever; accounts are quite logical. What we mean by a
capital outflow is that domestic residents are buying
foreign assets. In other words, they are “importing”
foreign shares, titles or securities. Thus, ali purchases
of foreign goods, securilies (stocks, bonds, bills) or any
other asset are measured as negative (imports), and ali
sales 1o foreigners are measured as positive {exports)
irrespective of whether they are goods sales or assel
sales.
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In principle, the capital account of the balance of
payments measures the change in the net assel
liability position between the home economy and the
rest of the world. We say "in principle” because there
is one respect in which this is not correct. The capital
account measures the value of the net flow of financial
instruments {stocks, bonds, bills, etc.) that passes be-
tween domestic and overseas residents. But the exter-
nal indebledness of an economy changes not just as
assets change hands. It also changes as a result of
changes in values of assets that have not changed
hands. For example, U.8. residents may own shares in
Rolls Rovce which rise in value. This capital gain for
loss) element of the external asset/liability position is
not measured as part of the balance of pavments
accounts until it is realized by an asset sale. Only the
flow of financial claims is included

Official Balance

The final item in the balance of payments accounts
is the balance for official financing. This comprises
changes in the official foreign exchange reserves of the
domestic economy. These reserves are mainly claims
against foreign governments (or central banksi, for
example, Fed holdings of Deutsche marks. For most
countries, reserves are held as a means of intervening
in foreign exchange markets to support the value of
the domestic currency.”’ This item is a special official
sector component of the capital account. It is treated
separately for historical reasons associated with the
fixed exchange rate syvstem which operated almost
worldwide from World War 11 until 19737 Under a
freelv floating exchange rate regime, the official financ-
ing balance is always zero, If F in equation 1 is zero,
clearly, CA and K must be equal and of opposite sign.

{1.8. Balance of Paymenits

Table 1 shows the U.S. balance of pavments for 1986.
It shows a current account deficit of a littde over $141
billiont. The current account is made up of items 1 and
2. The capital account surplus of $117 billion is shown
in lines 3 and 4. Changes in US. official reserves are
shown in line 5. There was a very small fall of $0.312
billion in 1986 {a plus sign indicates a decline in
holdings of foreign assets). This indicates that the U8,
authorities intervened little during 1986 as a whole.

*Some have claimed that the United States has become a net debtor
vis-a-vis the rest of the world. This claim ignores the capital gains on
U.S.-owned foreign assets; in reality, the United States is likely stili
to have positive net external assets.

*See Balbach (1978).
sSee Batten and Oft (1983).
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Thus, the dominant picture is one of US. residents
buying more goods and services overseas than foreign
residents are buying from the United States and of
foreigners increasing their net holding of claims
against the United States.

Notice, however, that there is a fairly large statistical
discrepancy. The presence of this discrepancy indi-
cates that the data do not include some trade and/or
capital flows. While it is impossible to say where the
inaccuracies arise, it is often presumed that the great-
est errors are likely to be in the eapital account, pri-
marily because asset transfers are more difficult to
keep records on. If the data had no omissions, then
the current and capital accounts lincluding official
flows! would add to zero.

It is not obvious at first glance why the current and
capital accounts must offset each other exactly. What
wotld happen if they did not? Suppose for example,
that at current exchange rates a country is running a
current account deficit but its planned net capital
flows are zero. This means that the country is trving to
spend more on imports than foreigners are willing to

JANUARY FEBHUARY 1983

spend on its exports. This will produce an imbalance
in its foreign exchange market® Attempted sales of
domestic currency {for foreign currency) will exceed
attempted purchases. The market value of the cur-
rency will fall until the quantity of the currency de-
manded is equal to that supplied. At this point, either
the current account has adjusted so that it is no longer
in deficit, or the net export of assets {induced as assets
in the country became cheaper, through domestic
currency devaluation, and thus more attractive to for-
eigners, and prices of foreign assets became higher
and hence less attractive to U.S. citizens! is just equal
to the current account deficit. Thus, the exchange rate
will adjust to ensure that the current and capital
accounts are exactly offsetting.

There is nothing magical about this outcome. The
end result is the same for any individual. If vou spend
more than your income, you must borrow or sell the
eqguivalent value of your assets to cover the difference;
it you spend less than your income, you must inevita-
bly acquire increased claims on someone else. 5imi-
farly, a nation that runs a current account deficit must
either borrow from abroad or sell off some of its assets,
whether these assets are domestic or foreign. Like-
wise, a current account surplus must be associated
with either an increase of claims on foreigners or a
recluction of previous borrowings.

Another implication of the definition of balance of
payvments is the following identity:

2) CA = GNP~ GDE.

The current account surplus {or minus the current
account deficit) is equal to gross national product
minus gross domestic expenditure. This identity
shows that the current account of the balance of
pavments is the difference berween the value of what
the nation produces and what it spends. The former
(GNP! can also be thought of as the value of the
nation’s gross income. Identity (2} is useful because it
makes clear that any nation that spends more than it
produces will have a trade deficit. The interesting
guestion, of course, is whether such an imbalance is
good or bad.

WHAT MAKES THE CURRENT
ACCOUNT BALANCE A PROBLEM?

The nature of what is usually termed a balance of
pavments problem varies considerably, depending

5See Chrystal {1984).
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upon whether the country In question has a fixed or a
floating exchange rate regime. The problem produced
by a deficit on the current account can be most acute if
the nation is maintaining a fixed exchange rate re-
gime.” In this case, "the problem” is felt directly by the
central bank,

Maintaining a fixed exchange rale vis-a-vis one or
more countries requires the pegging nation's central
bank to hold foreign exchange reserves with which to
intervene in the foreign exchange market. This inter-
vention can be necessary to stop the exchange rate
from moving in either direction. Suppose, for example,
that the country has a current account deficit and no
desired net private capital flows. In order to maintain
the existing exchange rate, the central bank must sell
foreign exchange for its domestic currency. Whether
the origin or source of the net supply of domestic
currency in foreign exchange markels is from the
current or capital account side of the balance of pay-
ments is irrelevant. The demestic currency value of
reserves sold in a particular period is the official
financing balance, ¥, in equation 1. Because it involves
the sale to foreigners of a domestically held asset, a net
loss of reserves is measured as positive in the balance
of payvments accounts,

Under a lixed exchange rate regime, exchange rate
pressure poses a problem if the central bank in ques-
tion starts to run out of foreign exchange reserves.
This possibility makes the problem worse because
holders of the domestic currency, fearing a devalua-
tion, will trv to buy foreign currency. Speculative sales
of the domestic currency in foreign exchange markets
force the central bank to sell even more foreign ex-
change reserves. Inevitably, the nalion must either
devalue its currency or introduce measures to cut
domestic spending tincluding spending on foreign
goads). This action is unavoidable: otherwise, the cen-
tral hank will run out of foreign exchange reserves.

This describes the nature of most balance of pay-
menls crises experienced by countries attempting to
maintain fixed exchange rates in the 1950s and 1960s.
It is worth noting, however, that the United States
under the postwar "Bretton Woods" regime was not
the same as other countries ® All other countries in the
svslem pegged their currencies to the dollar and held

"The exception fo this is when a currency is depreciating at a fast
rate. This is a symptom of acute internal problems normally associ-
ated with hyperinflation.

#The systerm was named after the place in New Hampshire where the
final negotiations setting it up were held in July 1944,
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dollar reserves for this purpose. The United States,
therefore, did not need to support its own exchange
rate and, in fact, did not hold significant reserves of
foreign currency during this period?

Since the spring of 1973, when all the major indus-
trial countries moved to a floating exchange rate re-
gime (the United Kingdom had floated in June 1972,
the nature of balance of pavments problems has
changed.” Under a floating exchange rate svstem, a
central bank does not have to use its foreign exchange
reserves to finance a deficit in the non-official part of
the balance of payments; in fact, there will be none."
In equation 1 above, the term ¥ becomes zero, Instead
of central bank intervention, the exchange rate moves
to assure that the current account and the capital
account sum to zero on their own.

WWHY WORRY ABOUT THE TRADE
BALANUE?

Concern about the state of the trade balance has a
long history. It is useful 1o put this concern in histori-
cal context, as it leads naturally to the analvsis of when
such concern is justified.

In the following discussion, we take it as given that
trade itself is beneficial, a point not clearly established
until Ricardo’s famous demonstration published in
1817. There was, however, some connection histori-
callv between the case against trade deficits and the
understanding of why trade in general was a good
thing. Only when the gains from trade were properly
understood could people begin to make sensible as-
sessiments of the cause and effect of trade deficils.

The context in which the early debates took place
was an international economy in which pavments for
external trade were largely made in precious metals,
especially gold. The effect of running a trade surplus
was that a nation would accumulate gold. In many

fThe U.S. authorities agreed to convert dollars into gold at $35 per
ounce. This commitment was abandoned for all but official holders
in March 1968 and for official holders in August 1971. See Batien
and Ot {1983) for evidence on exchange market interventon.

“Note that even today the majority of small countries peg their
exchange rates to etther a major currency or a weighied basket of
cunrencies. Reserve shortages still may cause acute problems for
them.

"Infact, none of the major currencies are floating freely. All the major
central banks nave intervened from time to time to influence ex-
change rates. Intervention to support the dollar has been especially
heavy since the "Piaza Accord” of September 1985,
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people’s minds, the accumulation of gold itself be-
came the object of trade: trade surpluses were “good”
and trade deficits "bad.” Trading in order to build up
gold holdings became known as mercantilism.

Mercantilism was criticized by several eminent writ-
ers, including David Hume (1752}, who showed that a
continuing trade surplus was unattainable. An exist-
ing trade surplus, he noted, produces an inflow of
gold. Because gold is a form of money, the quantity of
money in the country rises. This, in turn, produces a
rise in prices, which continues as long as more gold
flows in. As the country’s goods become more expen-
sive relative to those produced overseas, however,
fewer will be bought, eventually eliminating the trade
surplus.”

Some vears later, David Ricardo {18171 used this
demonsiration to show why trade deficits occurred.
His answer to this question brings us directly to our
central point: trade deficits can result from a variety of
sources, not all of which are "bad.”

RICARDO, THORNTON AND TRADE
DEFICITSY

Ricardo argued that a trade deficit was the inevita-
ble consequence of prices in the deficit country being
“too high.” These prices, in turn, were produced by
excessive prior monetary expansion from domestic
sources that were unrelated to prior trade surpluses.”
He argued, in other words, that excessive monetary
expansion was not only a sufficient condition for a
trade deficit to oceur, it was also a necessary condition
and vice versa for trade surpluses.

This describes whal happened in many countries
during the Bretton Woods regime. While this se-
quence of events porirays a common cause of trade
deficits, however, it is not the only cause. In the 65-
year period between 1830 and 1895, the United States
had a current account deficit in almost every vear,
there were onlv 13 vears in which a surplus was
recorded. Yet this was not a period of sustained in-

ZHume, although dealing explicitly with the mercantilist argument,
dealt implicitly with the notion that an export surplus is necessary for
growth, Since a perpetual export surplus is impossibie, if an export
surplus were essential for growth, growth woulid have stopped. it did
not, however, and io date has not.

BAn extensive discussion of the ground covered in this section can be
found in Perlman (1986).

“The issue of domestic bank notes partially backed by goid was a
topic of controversy between the “currency” and “banking” schools
through the 19th century in Britain.
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flation.” Indeed, it was a period of rapid and pro-
longed economic growth. There is thus at least one
counterexample — and a major one to Ricardo’s
generalization. How can this be explained?

At the time Ricardo was writing, his claim was
disputed, most notably, by Henry Thornton. Thornton
argued that, although prior excessive money expan-
ston was indeed sufficient to produce a trade deficit, it
was not a necessary condition for a trade deficit.

Thornton distinguished between trade deficits aris-
ing from real causes and those arising from excessive
money creation. The former can occur because indi-
viduals in a country want to spend more than their
current income, that is, they wish to reduce their net
financial wealth or increase their net indebtedness ®
in terms of equation 2 above, anything that causes
domestic spending to exceed output will produce a
trade deficit.

Of course, the balance of payvments deficit from this
cause can not persist forever. It will disappear when
individuals have reached their new lower desired
wealth level; in the same manner, a trade deficit pro-
duced by excess money creation will end when the
excess money has been dispersed overseas ior
detlated by higher prices).”

In suminary, a trade deficit can be produced not
just by excess monetary expansion, but by dissaving."
Both of these will produce deficits that are temporary;
however, these deficits will be eliminated eventually
by different mechanisms. Dissaving and the associ-
ated decline in financial wealth can be produced by
several factors; examining some major ones helps to
undersiand the current U8, situation.

sFor mere details on this, see Mudd and Wood (1978) and Friedman
and Schwartz (1963).

This highlights the fact that & trade deficit can be & symptom of a
problem, but is not itself a problem. Alternatively, if may be a
symptorn of something that is not a problem at all.

"Note that. when we talk about a “lower desired wealth level,” we are
referring only to financial wealih. If financial assets are being con-
verted intc physical capital, the composition rather than the level of
weaith is changing. If the physical capital offers a greater rate of
return than financial assets, this change actually will increase peo-
ple's wealth. This distinction is central to the argument that a irade
deficit associated with high levels of domestic real investment could
lead to faster real growih, increased wealth and higher ouiput in the
future.

"NMonetary expansion need not aiways lead to a trade deficit. In a
classic paper, Robert Mundell (1963) showed that, with perfect
capital mobility, floating exchange rates and sticky goods prices,
monetary expansion causes capital outflows (purchases of foreign
assets). This causes the currency to depreciate and results in a
current account surplus. Similar resuits are found in the modern
“overshooting” literature.
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WHY SHOULD THERE BE DIBBAVING?

In order to discuss the possible sources of dissaving
in the domestic economy, it is convenient to set out
another identity:"

3 CA=1(5~1) + {T-GhL

This shows that the current account surplus must be
equal to the excess of private saving over private in-
vestment (8- 1), plus the government budget surplus
(T — Gl. In other words, the surplus for the economy as
a whole can be broken down into the private seclor
surplus plus the public sector surplus. This classifica-
tion suggests possible directions in which to look for
causes of the trade deficit: a fall in private saving, a rise
in private investment or an increase in the government
budget deficit.

A tall in private saving must be associated with an
increase in consumption relative to income. This
could happen if there were a temporary fall in income
due, for example, to a crop failure or a natural disaster.
It is well established that, at times when income is
abniormally low, people atternpt 1o maintain their con-
sumplion patterns by dissaving. If the nation as a
whole does this, it will necessarily involve a trade
deficit. It should be emphasized that, while crop fail-
ures or other natural disasters are unfortunate, the
ability to adjust to these events by dissaving and thus
importing goods from abroad is preferable to reducing
domestic consumption. In extreme cases, the choice
may be between running a trade deficit and starvation.
While natural disasters can explain some trade de-
ficits, it is unlikely to explain the U.S. deficits in the
1980s. After all, this has been a period of fairly steady
income growth.

The second alternative suggested by identity (31is a
rise in private investment, caused by an expected rise
in the productivity of domestic capital (relative to that
overseas). This alternalive is an extremely healthy sign
for the domestic economy. It indicates that the ex-
pected profitability of investment was such that firms
were prepared to borrow in order to finance the
higher investment. If private investment exceeds pri-
vate saving (for a balanced government budget), the
private sector must borrow from overseas. We have
seen already that net borrowing from overseas implies
a eurrent account deficit in the balance of pavments.

“This can be derived as follows: GNP = C+1+ G+ CA from the
expenditure accounts. {tis also true that GNP = C+ S+ T from the
income accounts. Soi+ G+ CA = S5+TandCA = (S-1+(Y-Q).
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I overseas-financed growth in private investment
lies behind the trade deficit, we have to be careful in
interpreting the statement that the trade deficit is
associated with dissaving or a reduction in wealth. It is
true that the private sector will be increasing its net
financial liabilities tor reducing net financial assets}. At
the same time, however, it is converting those liabili-
ties into real capital. The return on that real capital is
expected to be greater than the cost of the borrowing,
Hence, this provides the basis for income and wealth
growth in the future and, presumably, explains why
the United States had sustained trade deficits
throughout the second half of the 19th century. Rap-
idly growing countries that atiract capital from over-
seas tvpically will have trade deficits.

The final possibility is that the current aceount
deficit reflects the government budget deficit. Obvi-
ously, if private saving and investment were equal, the
budget deficit and the current account deficit would
be equal. We shall not pursue the guestion of whether
the budget deficit is "good" or "bad” for the economy.
Assuming that the budget deficit represents the delib-
erate choice of policymakers, however, it follows that
the associated trade deficit must be preferred to the
alternatives,

Thus, we have seen that a rising current account
deficit must be associated with either a rise in invest-
ment relative fo saving for fall in saving relative to
nvestrent) or a rise in the budget deficit of the gov-
ernment. We already had seen that current account
deficits could result from excessive monetary expan-
sion, a case that is consistent with identity {3): the
attempt to spend the excess money will result in
either a fall in 5 — I thigher consumption, lower saving
or higher investment) or a fall in T — G {more govern-
ment spending relative to taxes).

The Evidence for the United Stafes

We now leok ar the possible causes of the US.
current account deficit. First, we consider the argu-
merd, favored by Ricardo, of fast monetary growth
associated with high domestic inflation. At first sight,
this appears a likely possibilitv. Monetary growth ac-
celerated after 1982 (chart 11 at the same time as the
current account plunged into deficit (chart 21, How-
ever, U5, inflation fell (chart 3) and remained consist-
ently below the OECD average during this period. Also,
both the real and effective exchange rates appreciated
strongly until 1985, The inflation and exchange rate
behavior are signs of monetary tightness, not mone-
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Chart t

U.S. Money Growth, Effective

and Real Exchange Rates
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tary ease® Only the high U.S. monev growth in 1986
looks consistent with Ricardo's explanation: both the
real and nominal exchange rates fell during 1986. The
increase in the trade deficit in 1986, however, was
small. Hence, little weight can be attached to the
monetary explanation of the trade deficit. Indeed, why
the rapid money growth of 1982-86 did not create

=}t is possible that the Muhdell mode! referred to above is relevant
here, This predicts that monetary tightness causes capital inflows, a
cufrency appreciation and a current accouni deficit. We think this
uniikely {o be relevant here. There is no clear evidence of sufficient
monetary tightening over the entire 198186 period to explain what
happened. More importantly the same outcormne is predicted from the
Mundell analysis as resulting from fiscat expansion. Hence mone-
tary neutrality combined with fiscal expansion would be sufficient. it
is the latter which seems to us 1o dominate in this case.

inflation is still something of a mystery. There was,
over this period, a significant decline in the velocity of
circulation, which means that the extra money bal-
ances were willingly held rather than spent domesti-
cally®

A much more plausible story emerges from a plot of
the private and public sector surpluses {chart 2). No-
tice that we show here { — 5 rather than 5 — I, because it
is easier to see its correspondence with T—G. Betore
1982, the relationship between the public sector de-
ficit and the private sector surplus was remarkably
close. As a result, current account deficits and sur-
pluses generally were small. Afier 1982, however, the

#See Stone and Thornton (1987).
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Chart 2 .
Relationships Between Public and Private Sector Deficits and the
Current Account
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public sector deficit stayed high while private invest-
ment rose relative to private saving. Bv 1984, the pri-
vate sector invested in excess of its saving. Hence, the
continued pubdic sector deficit is necessarily matched

bv a current account deficit of equivalent size. Insofar

as the government budget deficit is taken as given, the
choices that the 1.5, faces are high levels of private
investment and a trade deficit or balanced trade and
slow real growth.

CONCLUSION

A trade deficit arises when a country buys more
from overseas than foreigners buy from it. The coun-
terpart of a trade deficit in the balance of pavments
accounts Is an increase in borrowings [or reduction in
net lending from the rest of the world. Trade deficits
could result from inflationary domestic monetary pol-
icies; there is no evidence, however, that such policies
are the cause of the current US. trade deficit. In

general, a trade deficit must be associated with some
combination of private and public sector deficits. Until
1982, the budget deficit was approximately financed
bv private sector surpluses. The present situalion,
however, is the inevitable result of the combination of
a budget deficit and high investment relative to private
saving.
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